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PH= 050 x 16.0 x 1.85%/2 = 13.69 kN- - - - T ESH
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Mt = 13.69 x 1.85 /3 +9.25 x 1.85 /2
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Mr = 8.40 x 0.100 + 10.08 x 1.050 + 69.16 x 1.150
= 90.96 kN'm- - - - ERE—AVF
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e = 210/2- (90.96 - 17.00 ) / 87.64 = 0.206 m
omax = 87.64 / 2.10 x (1 +6x0.206 /2.10) = 66.3 kN/nmi < 80 kN/ni
omin= 87.64 / 2.10 x (1-6x0.206/210) = 17.2 kN/mi > 0 kN/ni
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90.96 / 17.00 =53 > 1.5 .. 0K
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040 x 87.6 / ( 13.69 + 925 ) = 153 > 1.5 .. 0K
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M=05 x 16.0 x 1.65°/6 + 0.50 x 10.0 x 1.65%/2 = 12.80 kN-m
Q=050 x 16.0 x 1.65 2/ 2 + 0.50 x 10.0 x 1.65 = 19.14 kN
t =20.0 cm dt = 7.0 om j= 11.37 ocm
at = 12.80 x 100 / 19.5 / 11.37 = 578 ocm’
— D13@ 150 ( 8.47 cm®) BEL . 0.68 .. 0K
= 19.14 x 1000 / 11.37 / 10000 = 0.17 < 0.70 N/em2 .. OK
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M= 17.2 x 1.90 %/ 2+ 44.4 x 1.90 %/ 6 - 41.2 x 1.90 %/ 2
= 16.60 kN-m
Q= 17.2 x 1.90 + 444 x 1.90 /2- 41.2 x 1.90 = 3.40 kN
t = 20.0 cm dt = 7.0 om j= 11.37 ocm
at = 16.60 x 100 / 19.5 / 11.37 = 7.49 cm?
— D13@ 150 ( 8.47 cm®) BEL . 0.88 .. 0K

T= 3.40 x 1000 / 11.37 / 10000 = 0.03 < 0.70 N/em2 .. OK



